
Time: 10 Minutes Paper Math 2 Total Marks: 10

2nd Month, 2nd Week, 5th Day Syllabus: Review Exercise Q # 3, 4, 5, 6

Q. Solve the problems. (2.5 × 4 = 10) ÎÎÎÎZZZZÑÑÑÑ]]]]ÃÃÃÃiiii™™™™,,,,XXXX
(i) Sana get Rs.850 as Eidi. She gave Rs.375 to her younger brother Ahmad.

What amount was left with Sana?

gz9ZLgL¸ðZ£ÃŠbXzÆ0*kXg¶!*¹`? 375 gz9Ï~ìXZkä 850 zÆ0*k

(ii) A train has 965 seats. If there are 780 passengers in the train, how many seats

are vacant?

)�Ûñ�Š÷XX�{à÷? 780 �÷XZ¤/R,+~ 965 Zq-R,+Å

(iii) Umer has 42 toys. He distributes 18 toys among his friends. How many toys

are left with Umer?

[âVÃZLŠz2V~„™@*ìX/Æ0*kÄ[äa÷? 18 [ä÷Xz{ 42 /Æ0*k

(iv) A factory produced 624 bicycles in a month. 435 bicycles were sold. What is

the number of remaining bicycles?

!*`Ö@ŠØX!*¹X®ZŠ~!*`a? 435 !*`»g™CìX 624 Zq-1~Zq-¹~
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